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QUESTION 1

After configuring Header Manipulation Rules (HMRs) for topology hiding, your subsequent testing shows that the
manipulation is not takingeffect.

Identify two causes for this (Choose two.)
A. You have not configured the out-manipulationid parameter of the sip-interface configuration element.
B. You have not enabled policy-based realm-bridging.

C. The value of the name parameter in the header-rule configuration element is different than the value of the out-
manipulationid parameter in the sip-interface configuration element.

D. The value of the match-val-type parameter is not written correctly.
E. The home-proxy-address value does not matchthe $LOCAL_IP value in the new-value parameter.

Correct Answer: AE

QUESTION 2

Which two statements are correct about configuring realms and their corresponding interfaces? (Choose two.)
A. You can associate multiple home realms with a single network interface.

B. You can configure more than one SIP interface per realm.

C. Although you can use both TCP and UDP concurrently as the transport protocol, you can only have one SIP interface
per realm.

D. You can associate multiple realms with a single networkinterface.

E. You can associate multiple network interfaces with a single realm only when either TCP or UDP is used as the
transport protocol.

Correct Answer: CD

QUESTION 3

You are troubleshooting a SIP routing issue and you haveaccess to the SIP call ow processed by the Session Border
Controller.

Which two steps are valid for troubleshooting this type of issues? (Choose two.)

A. Itis necessary to locate the SIP session to troubleshoot and check if there is a 404 Routes Not Found SIP error
message.

B. It is recommended to look for 183 Session Progress SIP error messages that indicate routing issues.

C. It is recommended to check the called number by looking at the Request-URI of the INVITE message and making
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sure it is a validnumber to be routed.

D. It is recommended to find the CANCEL method received by the Session Border Controller which typically identifies a
SIP routing issue.

E. It is necessary to find an initial INVITE received by the Session Border Controller which getsa 503 Service
Unavailable SIP error message.

Correct Answer: BE

QUESTION 4

What two problems do Network Address Translations (NATSs)introduce into VolP networks? (Choose two.)
A. There are no major concerns with NATSs.

B. NATSs block unsolicited incoming signaling and media.

C. NATSs block unsolicited incoming signaling but allow incoming media.

D. NATs pinholes expire after aconfigurable time.

E. NATSs devices can be overloaded by incoming registrations.

Correct Answer: DE

QUESTION 5

You are configuring the boot parameters in the Session Border Controller.

Which three statements are true about the boot parameters? (Choose three.)

A. A reboot is always required to apply any change to the boot parameters.

B. The target name is usedfor domain name resolution.

C. The system clock is a boot parameter.

D. The boot parameters are stored in Non-Volatile Random Access Memory (NVRAM).
E. The boot parameters are not affected by the activate-config command.

Correct Answer: ACD
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